@@ (@ C@ @ Cnoxenue 10 100 (1o ropu3oHTaIM)
*

WUms: Jata: ___ Ouenka:___
30+ 72 = 87+ 31 =
52+50= 20+99 =
29+ 69 = 93+ 75 =
29+ 83 = 22 +8=
40+93 = 42 + 58 =
48+71 = 42 +99 =
79 + 86 = 29 +60 =
23+ 98 = 40 +96 =
58 +95 = 20+ 66 =
53+92 = 98 + 99 =

www.snowmath.com


https://www.snowmath.com

Do §

Cnoxenue 10 100 (1o ropu3oHTaIN)

Nwms:

30+72 =102

52+ 50 =102

29 + 69 = 98

29+83 =112

40 +93 = 133

48 +71 =119

79 + 86 = 165

23 +98 = 121

58+95=153

53+92 =145

Jlara: Orenka:

87+ 31 =118

20+99 =119

93 +75 =168

22 +8=130

42 + 58 = 100

42 +99 = 141

29 +60 = 89

40 +96 = 136

20 + 66 = 86

98 +99 = 197
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